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42. a) 1Ox3y2; b) -6x3y; c) 6x6y3; d) 70xay6

43. (C)

44. a) 5a;b) 7; c) 2; d) 2

45. a) 82; b) 108; c) x2; d) -5k3; e) a; f) 5m2; g) -Zyr;h) 5,r2

lll2
46. a);: b) yg,?;ct ;;d) ;

47. a) 2ax;h) 2a2x; c) 2a; d) l; e)

48. (D)

4e. (B)

50. a) 5; b) 3; c) 3; d) 4

51. a) 2522;b) i000x3; c) -64y3; d) 0,25a2; e) 8x3y3; f|0,09a2b2; g) 10000,ra ya;h) -2'Ja3b3c3
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53. a) 26; b) 1010; c) 1000x6; d) 1616; e) -125x6;fl 64a6be; g) 4a2bt0;h) -*r2

54. a) 27x3y6ze;tt) 4a2bac6; ") itu) g

ss. (D)

s6. (c)

57, (-r3, 30, 31, e3)2, 33

s8. (D)

se. (B)

60. (B)

61. (B), V:91,1251

62. (D)

63. (A)

64. (B)

6s. (B)

2. FEJE ZET:A Pitago rasz-tltel 6s alkal mazasa

1. a) igen; b) igen; c) nem; d) igen

2. a) c = 10cm; b) a = 20cm; c) b = 25 cm

3. a)k:5cm; b)m=50cm; c)l=9cm; d) k=27cm

4. k:84,5 cm, T = 306cm2

5. a = 130mm


